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| va-tb Ya—h va—h Ya—h T399 7L va—h AR IhER
1 |FTREXEKE 6[/NH KK 2 3 61 00 22 15 10 00 00 11 30 17 56.7%
2 | UbhIHBEAR—YKRE 4|7 E 3 2 96 00 00 6 4 76 10 00 23 16 69.6%
2 |BfERXZE 7\EH B 2| 3] 43 53 33 41 4 2 11 33 24 16 66.7%
4 | UbHIHBRAR—YKE 2| BF 4 21 20 00 6 6 2 1 4 3 11 11 16 12 75.0%
5 |[RfgAXE 8l/hfE R 11 3/ 20 00 10 5 4 2 2 2 00 11 19 10 52.6%
6 |UhIHERR—YKE 6|21 Y 4 21 00 00 75 4 3 11 00 00 12 9 75.0%
7 |[UHIHBAR—YKE 11|ARE /i af 2 21 00 00 4 3 33 11 00 10 8 80.0%
8 |[UhIHERAR—YKE J=E BE 1l 2 oo 00 2 2 53 32 00 00 10 7 70.0%
8 |[BXREKBFKXE 2[/h kR ERF| 4] 2 41 00 00 33 00 4 3 10 12 1 58.3%
8 |BAXRFEEKXRE 6| HE # 31 2| 21 00 51 7 4 10 00 11 16 7 43.8%
8 |FREXKE 5/ hHA e+ 2| 3] 53 4 0 20 00 11 4 3 00 16 7 43.8%
12 |BRAKABXRE Alfhm XKEBEZE| 3| 2| 21 00 00 53 31 00 11 11 6 54.5%
12 |BfERXZE 6l EEF| 2| 3 7 3 00 20 21 00 32 10 15 6 40.0%
14 |RRZXFREKRE 8|#EO BAFA 1l 2 21 00 00 4 3 11 00 00 75 71.4%
15 |UHIREBEAR—YKE 5[FE =E# 4 21 10 00 11 2 2 11 00 00 5 4 80.0%
15 |RRELFHRBEKRE 5| RAN BF| 4 2 10 00 00 11 2 2 11 00 5 4 80.0%
15 |FIRERKE @R HEY 2| 3 51 10 11 2 2 00 00 00 9 4 44.4%
15 |[BfgAX=E o|lHH ZEIE 11 3] 51 00 00 33 00 00 10 9 4 44 4%
19 [BEXREKEKXE 3IKEF R 4 2 30 4 0 00 51 11 11 10 15 3 20.0%
19 |BFEAXZE 5(Frk EZ#&| 2| 3 6 3 00 20 00 10 00 10 10 3 30.0%
21 [UhIBBERR—YKE 9|KFE = 4 21 00 00 00 00 2 2 00 00 2 2 100.0%
21 |RERFHREXRE 10|[R & 2l 2f 00O 00 00 11 11 00 00 2 2 100.0%
21 |REEFHREKRE 9IBEAR HDY 1l 21 11 00 00 00 00 11 00 2 2 100.0%
21 |[RREFHRBKRE Wik F= 3 21 00 10 00 10 11 21 00 52 40.0%
21 |RERFHREXRE LA 2l 2| 21 10 00 21 00 10 00 6 2 33.3%
21 |REZFHREKRE Al3)I BEE 1l 21 oo 10 00 4 2 10 00 00 6 2 33.3%
21 [BRKAEXRE 5|HF =R 3l 2| 21 20 20 10 10 10 11 10 2 20.0%
21 |FREEXRE 2|5HE HE 31 3| 21 21 00 00 00 00 00 4 2 50.0%
21 |FTREXEKRE 3|EEFT X2 2| 31 31 00 00 00 11 00 00 4 2 50.0%
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